
1) 21/5 x 22/3

Answer: ____________

2) 54/7 ÷ 92/3

Answer: ____________

3) 22/9 x 21/2

Answer: ____________

4) Convert the following improper 
fraction 52/8 + 96/7 to a mixed number

Answer: ____________

5)

'Name the type of angle.

Answer: ____________

6)

'Name the type of angle.

Answer: ____________

7) 74/7 x 51/2

Answer: ____________

8) 6   102/8 - 3   38/6

Answer: ____________

9) 8   117/7 - 8   133/8

Answer: ____________

10) 101/8 ÷ 96/10

Answer: ____________

11) 22/6 ÷ 25/6

Answer: ____________

12) Convert the following improper 
fraction 93/8 + 61/2 to a mixed 
number

Answer: ____________

13) 55/9 x 21/2

Answer: ____________

14) 52/3 ÷ 12/6

Answer: ____________

15) 46/8 ÷ 92/3

Answer: ____________

16) 10   71/7 - 1   11/9

Answer: ____________

17)

'Name the type of angle.

Answer: ____________

18) 43/6 x 67/8

Answer: ____________

19) 94/9 ÷ 15/6

Answer: ____________

20) 96/7 x 92/3

Answer: ____________

Total: ___ / 20
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Answers:

1) 513÷15 2) 117÷203 3) 55÷9 4) 153/28 5) Obtuse 6) Right 7) 419÷14

8) 65/12 9) 5/56 10) 17÷128 11) 14÷17 12) 157/8 13) 138÷9 14) 41÷4

15) 57÷116 16) 858/63 17) Right 18) 3015÷16 19) 55÷33 20) 952÷7
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